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Easy model building

TensorFlow offers multiple levels of abstraction so you can choose the right one for your
needs. Build and train models by using the high-level Keras API, which makes getting started

with TensorFlow and machine learning easy.

If you need more flexibility, eager execution allows for immediate iteration and intuitive
debugging. For large ML training tasks, use the Distribution Strategy API for distributed training
on different hardware configurations without changing the model definition.

Robust ML production anywhere

TensorFlow has always provided a direct path to production. Whether it's on servers, edge
devices, or the web, TensorFlow lets you train and deploy your model easily, no matter what
language or platform you use.

Use TensorFlow Extended (TFX) if you need a full production ML pipeline. For running inference
on mobile and edge devices, use TensorFlow Lite. Train and deploy models in JavaScript
environments using TensorFlow,s.

Powerful experimentation for research

Build and train state-of-the-art models without sacrificing speed or performance. TensorFlow
gives you the flexibility and control with features like the Keras Functional APl and Model
Subclassing API for creation of complex topologies. For easy prototyping and fast debugging,
use eager execution.

TensorFlow also supports an ecosystem of powerful add-on libraries and models to experiment
with, including Ragged Tensors, TensorFlow Probability, Tensor2Tensor and BERT.

Q1. Is the following statement True or False?

TensorFlow is a comprehensive platform for machine learning that offers in-built libraries and

models only.

True
G False



Q2. The word "one" in the passage refers to

Level

B Tensorflow
Model

@ Keras API

Q3. Which of the following is closest in meaning to "state-of-the-art"?

full-fledged

G cutting-edge
deeply-rooted
©® long-awaited
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Build the model

Building the neural network requires configuring the layers of the model, then compiling the

model.

Set up the layers

The basic building block of a neural network is the layer. Layers extract representations from
the data fed into them. Hopefully, these representations are meaningful for the problem at
hand.

Most of deep learning consists of chaining together simple layers. Most layers, such as tfkeras.
layers.Dense, have parameters that (i) during training.

model = tfkeras.Sequential([
tf.keras.layers Flatten(input_shape=(28, 28)),

tfkeras.layers.Dense(128, activation="relu’),

tf.keras.layers.Dense(10)

)

The first layer in this network, tfkeras.layers.Flatten, transforms the format of the images
from a two-dimensional array (of 28 by 28 pixels) to a one-dimensional array (of 28 * 28 = 784
pixels). Think of this layer as unstacking rows of pixels in the image and lining them up. This
layer has no parameters to learn; it only reformats the data.

After the pixels are flattened, the network consists of a sequence of two tfkeras.layers.Dense
layers. These are densely connected, or fully connected, neural layers. The first Dense layer has
128 nodes (or neurons). The second (and last) layer returns a logits array with length of 10.
Each node contains a score that indicates the current image belongs to one of the 10 classes.

Q4. It can be inferred that "the problem at hand" refers to

a bug that needs to be fixed
6B a commonly made mistake
an issue that may or may not occur

@ the situation being dealt with at the moment



Q5. Which of the following best completes the blank marked (i)?

are learning
B learned

are learned

® learn

Structure of an HTML document

The Document Object Model (DOM) is an architecture that describes the structure of a
document; each document is represented by an instance of the interface Document. A
document, in turn, consists of a hierarchical tree of nodes, in which a node is a fundamental
record representing a single object within the document(such as an element or text node).

Nodes may be strictly organizational, providing a means for grouping other nodes together
or for providing a paint at which a hierarchy can be constructed; other nodes may represent
visible components of a document. Each node is based on the Node interface, which provides
properties for getting information about the node as well as methods for creating, deleting, and
organizing nodes within the DOM.

Nodes don't have any concept of including the content that is actually displayed in the
document. They're empty vessels. The fundamental notion of a node that can represent visual
content is introduced by the Element interface. An Element object instance represents a single
element in a document created using either HTML or an XML vocabulary such as SVG.

Q6. Why does the author mention "empty vessels"?

To give an example of how a document is used
0 Toillustrate how nodes do not represent the content displayed in the document
To discuss the absence of information in a document

@ To criticize the inadequacy of the DOM
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Fetch API

The Fetch API provides an interface for fetching resources (including across the network). It
will seem familiar to anyone who has used XMLHttpRequest, but the new API provides a more

powerful and flexible feature set.

Concepts and usage

Fetch provides a generic definition of Request and Response objects (and other things involved
with network requests). This will allow them to be used wherever they are needed in the future,
whether it's for service workers, Cache API, and other similar things that handle or modify
requests and responses, or any kind of use case that might require you to generate your
responses programmatically (that is, the use of computer program or personal programming

instructions).

It also defines related concepts such as CORS and the HTTP Origin header semantics,
supplanting their separate definitions elsewhere.

For making a request and fetching a resource, use the fetch() method. It is implemented in
multiple interfaces, specifically Window and WorkerGlobalScope. This makes it available in
pretty much any context you might want to fetch resources in.

The fetch() method takes one mandatory argument, the path to the resource you want to fetch.
It returns a Promise that resolves to the Response to that request — as soon as the server
responds with headers — even if the server response is an HTTP error status. You can also
optionally pass in an init options object as the second argument(see Request).

Q7. Which of the following statements is not true?

The fetch() method is executed in a single interface.
G The Fetch API offers an interface to fetch resources.

Fetch defines related concepts and replaces their separate definitions somewhere
else.

@ Fetch enables users to obtain a comprehensive definition of Request and
Response objects.
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Q8. The phrase "pretty much any" is closest in meaning to

very few
B amost all

small number of

@ hardly any

Storage, Memory and the Stack

The Ethereum Virtual Machine has three areas where it can store data: storage, memory and
the stack.

Each account has a data area called storage, which is persistent between function calls and
transactions. Storage is a key-value store that maps 256-bit words to 256-bit words. It is not
possible to enumerate storage from within a contract, it is comparatively costly to read, and
even more to initialize and madify storage. Because of this cost, you should minimize what
you store in persistent storage to what the contract needs to run. Store data like derived
calculations, caching, and aggregates outside of the contract. A contract can neither read nor
write to any storage apart from its own.

The second data area is called memory, of which a contract obtains a freshly cleared instance
for each message call. Memory is linear and can be addressed at byte level, but reads are
limited to a width of 256 bits, while writes can be either 8 bits or 256 bits wide. Memory
is expanded by a word (256-bit), when accessing (either reading or writing) a previously
untouched memory word (i.e. any offset within a word). At the time of expansion, the cost in
gas must be paid. Memory is more costly the larger it grows (it scales quadratically).

The EVM is not a register machine (i) a stack machine, so all computations are performed
on a data area called the stack. It has a maximum size of 1024 elements and contains words of
256 bits. Access to the stack is limited to the top end in the following way: It is possible to copy
one of the topmost 16 elements to the top of the stack or swap the topmost element with
one of the 16 elements below it. All other operations take the topmost two (or one, or more,
depending on the operation) elements from the stack and push the result onto the stack. Of
course it is possible to move stack elements to storage or memory in order to get deeper
access to the stack, but it is not possible to just access arbitrary elements deeper in the stack
without first removing the top of the stack.
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Q9. Translate the following statement into Korean:

All computations are performed on a data area called the stack.

Answer :

Q10. Choose the best word to complete the blank marked (i).

of
G but
for
® n

Q11. The word "arbitrary" is closest in meaning to

fixed
B stable
essential

® random
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Q12-Q13

Ajax

Ajax, which initially stood for Asynchronous JavaScript And XML, is a programming practice of
building complex, dynamic webpages using a technaology known as XMLHttpRequest.

Ajax allows you to update parts of the DOM of an HTML page without the need for a full page
refresh. Ajax also lets you work asynchronously, meaning your code continues to run while the
targeted part of your web page is trying to reload (compared to synchronously, which blocks
your code (i) running until that part of your page is done reloading).

With interactive websites and modern web standards, Ajax is gradually being replaced by
functions within JavaScript frameworks and the official Fetch API Standard.

Q12. Which of the following is not an advantage of using Ajax?

You can make partial DOM updates without a full page refresh.
@ You are able to work asynchronously.
You can replace Ajax with functions within JavaScript frameworks.

@ You can have your code running as the targeted part of the web page is reloading.

Q13. Choose the best preposition to complete the blank marked (i).

by
G from
in
@ for
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An overview of HTTP

HTTP is a protocol for fetching resources such as HTML documents. It is the foundation of any
data exchange on the Web and it is a client-server protocol, which means requests are initiated
by the recipient, usually the Web browser. A complete document is reconstructed from the
different sub-documents fetched, for instance, text, layout description, images, videos, scripts,

and more.

Clients and servers communicate by exchanging individual messages (as opposed to a stream
of data). The messages sent by the client, usually a Web browser, are called requests and the

messages sent by the server as an answer are called responses.

Designed in the early 1990s, HTTP is an extensible protocol which has evolved over time. It is
an application layer protocol that is sent over TCP, or over a TLS-encrypted TCP connection,
though any reliable transport protocol could theoretically be used. Due to its extensibility, it is
used to not only fetch hypertext documents, but also images and videos or to post content
to servers, like with HTML form results. HTTP can also be used to fetch parts of documents to
update Web pages (i)

Q14. Which of the following statements is not true?

Requests refer to messages sent by the client.
@) HTTPis used to fetch hypertext documents as well as images and videos.
Responses are initiated by the client.

@ HTTP serves as the basis of any data exchange that takes place on the Web.

Q15. Choose the correct phrase to complete the blank marked (i).

of demand
@ on demand
for demand
® with demand



What is JavaScript?

JavaScript is a powerful programming language that can add interactivity to a website. It was

invented by Brendan Eich.
JavaScript is versatile and beginner-friendly. With more experience, you'll be able to create
games, animated 2D and 3D graphics, comprehensive database-driven apps, and much more!
JavaScript itself is relatively compact, yet very flexible. Developers have written a variety of
tools on top of the core JavaScript language, unlocking a vast amount of functionality with
minimum effort. These include:
« Browser Application Programming Interfaces (APIs) built into web browsers, providing
functionality such as dynamically creating HTML and setting CSS styles; collecting and
manipulating a video stream from a user's webcam, or generating 3D graphics and audio
samples.
 Third-party APIs that allow developers to incorporate functionality in sites from other
content providers, such as Twitter or Facebook.
 Third-party frameworks and libraries that you can apply to HTML to accelerate the work
of building sites and applications.

Q16. Is the following statement True or False?

JavaScript offers great extensibility and flexibility supporting a lot of features.

True
B False

Q17. The word "accelerate" is closest in meaning to

expand
B clevate
expedite

@) escalate
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Q18 -Q19

ContributorA commented.

[ think it would be nice to have somehow a tool that could visualize compiler internals.
If once ready, the tool could be used to teach about how the compiler actually works and
it will also be useful for debugging compiler bugs.

The idea would be to have at first a simple Solidity/Yul editor with syntax highlighting, after
that all current provided debugging information and compiler outputs should be somehow
visualized. Additionally it would be great to also visualize things, that we are currently not really
exporting, e.g. optimiser code transformations, whiskers template instantiations (being able to
see from where exactly (in our C++ code) a parameter of a template was set) etc.

I know that all this is quite a big effort, but | would say it would be very helpful in general.

It will improve the code quality of the solidity compiler - because we need to see

the compiler from a slightly different perspective. This tool will help us to communicate used
algorithms and concepts, where it would also support us to investigate compiler bugs.

| created this PR to collect possible feedback on such tool in general. What is your opinion?

MaintainerB commented.

Sorry about that, but I don't think we will go for this and | don't think it makes sense to keep a
PR open with this (we're trying to keep our PR count low enough to be manageable).

(i) - if anyone wants to build a Ul on top of the compiler, it should interact with the
compiler via the standard interfaces (like standard-json) and be developed separately from the
compiler and not by us, categorically.

Any further "currently not exported" information should, if anything, become additional debug
data to be consumed by arbitrary external tools.

Q18. Which of the following is true?

MaintainerB wanted to keep this PR open for the time being.
@G ContributorA created this PR to fix a bug with the Ul on top of the compiler.
MaintainerB wants to reduce the PR count if possible.

@ ContributorA was not eligible for collecting feedback before.




Q19. Choose the best phrase to complete the blank marked (i).

Put differently

B That said

In contrast

@ On a differnet note

Q20. Translate the code explanations below into English.

1) 8=
ShC

lfl_:‘/k nallgl_ _|:||_x|_oE:| AOI._,IK_ llbll% d |_AO-H 7;*_”9_ n "O‘” 10;’ Ilblloﬂ "GeekHauS"E
2ol AR

2) #H"a"E 10E ZAA|3|1, "a"Q| g2 printNumber &0 QIXIE HEHSH FM Q.
3) ZHZ0| A0|H, "Hello World"E E&35HM| 2.

4) For =202 HIES =10, HiE R42| ¢10| 0F F2 HEES HHLILIFM K.

5) F2= QIX} 8 JHE EH= checkPositive S48 SEHM| Q. 0] EH4~= number DRI}
OLLCt % O™ "Negative"S ghetetL|Ct.
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Q11 @

2 22] "TensorFlow also supports an ecosystem of powerful add-on libraries and
models to experiment with, including Ragged Tensors, ~"0{|A{ 2015t 2~ 9l = Fix{
HME2 2= WEE(in-built) 2t0|E212| 3! & #0F OfL|2f Ciefor OHE (=0t &) 2
XL c.

Q2 |

20X one UM HAZE multiple levels & SHLHS 2|0[gL|Ct

Q3 | O

State-of-the-art &= "£|HE| X4 J|=2]" 2= 29| HEAMRILICE R2|0{ 2 Cutting-edge
2t U HEL

Full-fledged : X143 & M[tH= 2t&

@ Deeply-rooted : 82| 22
@ Long-awaited : CHYC|, 22ff 7|Ct2|H

(e VNN D )
Problem at hand= "o 2X|"2 S56HLICEH R 9| 2 Issue at hand EE= Matter at hand?t

UG LIL.

Q5 |

Learn2 SALZ "HIRLCH, "&S0ICH 2t= SSYULICH OPPH #(Parameters)= ot&(Training)2
Soff £55l= 210|7| R0, =SEHQ! are learned?t EHEO 2 §2 EHQUL|CE

Q6 | O

Empty vessel2 "8I &7|"E SLICE 20l AZEl "Nodes don't have any concept of
including the content that is actually displayed in the document (‘= =0{|= 20|

S 2 EAEE W8S Efot= JHE0[ GG LIEH 2t= A S BIR A2 2 BH0H,



L E AMlE 2HXE FASHE 20| Ot 2= A2 ZARISLICL
Q7 @
=229 "It isimplemented in multiple interfaces"of|A 2kR1et 4= /=0, fetch() method=

Chol(multiple) QIEATH{0] 2014 2EILIC

Qs | @

Pretty muche "Me|'2ts SO 2, U4 2[2t0|M At Aot EAQLICE 222 in pretty

much any context= "H2| 2=(0HR) A2tof M"2k= 2|0| 2, 22(2] "almost all'0] 215

FAreh EAYLILE.

£ Ath2 AEH0let1) S2|= H|O[E YHo|A s EC.

o 22| ABHE X Bi=~(local variable)2t D2 H==(parameter)? | M &= YL YLICE

Q10 | O
Not A but B = "A%} Ol B'2t= 222 2=20(M "EVM 2| X|AE /0] O
AEHHAIOICH 2= 20| 2 AFSE/IGLICEL 28 I £22| "so all computations are

(@]
performed on a data area called the stack"0|A EVMO| stackf 2t& QL= 2

o O XSH
=TT =
= UG LI
Q11 | @

Arbitrary= "YHRI", "ML= Q1"0|2t= S22 HEALZ, Random Xt SASHA AL LIC

Fixed : T &5
G Stable : QP&

@ Essential : X0l
Q12 |

"Ajax is gradually being replaced by~"= "Ajax= HAt ~2 Y E| T QICHE= 502

ZEUAM 2127 1= FE & ofHof SHE =R pis LT
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Q13 | @
Block A from Bi= "AS B2 HE{ XTHOIL} 2Hs 02 '~REE|'S O|u[ots FX|A fromoO)

ZIEA ERRLCt

Q14 | @

= 29| "the messages sent by the server as an answer are called responses"tf| 2|5+H,

Response= 2ct0|UET} Of MH=RE Z-geiLCf.

Q15 | O

On demandi= "2 ZA], 25 AI"E EBILICL LIBIX| (4), (O), (D)= 2HXO2 §7| 92
ESHSULICL

Q16 |

==2| "JavaScript itself is relatively compact, yet very flexible. Developers have written
a variety of tools on top of the core JavaScript language, unlocking a vast amount of

functionality with minimum effort"0|Af XA S ZIED} =2 shxky 8l Q0142 2o,

CIfSH I |5 S2 X|QISHT) U = AGLC.

O [y

A

rr
mjo

Q17 |

Accelerate= Expeditel] R2|0{2 "J&5IT £ 2 S =0|C 2h= S=QULCH
Expand : ZCHE|CE SHHA|F|CF

@ Elevate : (BEE) =0IC}, SIHAIZ|C}

@ Escalate : S71A|3|CE SHCHE|CH (A |CH

Q18 | @

=29] "We're trying to keep our PR count low enough to be manageable (2t2|&F &~ @

S PR =5 & RASIHAL FLCH" M JEE F5E + UL

o

Q19 | B

User2= 2 2|HAEES HE =0, oy T2 TAStH= Af5S ?ler 7t0|=2rels
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HMlSotd ASUIES. Put differently= "E2| ZotH"0|2f= £ 2 JH0|=2fRl0f TRt MaS

Aok JEnt oHy 2 ofEE Lt

@ That said : 21321 &pX|at
In contrast : B30

@ On a different note : 2| O|0F7 |2} HIHZ

Q20 |

1) Declare an integer variable a and string constant b. Assign 10 to a and "GeekHaus"
to b.

2) Decrement the variable "a" by 1 and pass a to the printNumber function as
an argument.

3) If the conditional statement evaluates to true, print "Hello World".

4) Iterate over the array via the for loop, and jump out the for loop if the value of
the elementis O.

5) Call the checkPositive function accepting an integer argument. This function
returns "Negative" if the number parameter is smaller than 0.

[Q1 - Q3] Tensorflow website, Why Tensorflow

[Q4 - Q5] Tensorflow, Tutorials, Basic classification: Classify images of clothing
[Q6] MDN, The HTML DOM API

[Q7 - Q8] MDN, Fetch API

[Q9 - Q11] Solidity docs, Introduction to Smart Contracts

[Q@12-Q13] MDN, Ajax

[Q14 - Q15] MDN, An overview of HTTP

[Q16 - Q17] MDN, JavaScript Basics

[Q18 - Q19] Github, ethereum/solidity, Pull request #13393

ot - www.geekhaus.club/translation
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